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L.10 Exercisel-3

1.

(1) | Active Verb /Stative Verb (T)+ #E3H starts to......

In a sentence with two or more than two verbs, the main active verb usually goes with verbial

”7”  (serves as a peak marker in the sentence )

e.e.l —ITEIEEHEE @ WElsH4ERTIER -
e.g.2 EEIHBICETRELI - BIEEIT G 7K -
e.g3 ERFT » RANGIGHIN THER -

e.g.

e.g.

(2) | V. + # + 0. & | starts to......

When it comes to the verb-object compound,we should place the object between “#E” and

“;E”

e.g.l WA > ALEMIEIERE 2B IRA—FE?
e.g.2 FA WL - SMEHE MRS T -

e.g.

e.g.

2. Connecting two clause that represent different or contrasting situation.

Used 1n literary language.

e.q.] HREHBEARNNZEIRARHEN » i~ 2RV EERF KRS -
e.g.2 FIRTERNFINAZFMETEZEA Y > AN T EO A -
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e.g.

e.g.

3. | Bpadi AT |=| AL, Fadjy | none can surpass
e.g.] WIWXHBEHEFEFEANT T » IRIVEIE T RN 2 - S2AvEE -
e.g.2 XALLMAVEUARE Y » N ABRZZE] BEFEE -

e.g.

e.g.

4. Active Verb /Stative verb + Dynamic particle indicates experienced events.

egl () FEHPFHE - ¢ ) FETHE -
eg2 ( )IWZ SIREMAENK EFEET () WIZARLIEHAE DK EREE T -
egd () IS - ¢ ) FZ -

egd () FIrdfavEs - () TR - ¢ ) FIEd—RK-

Trying to use some “#I” describing your experiences.




